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QUESTION 1

Which elements are abstracted from the page structure? (Multiple Choice) A. Component
B. Container

C. Editor

D. Preview area

Correct Answer: AB

QUESTION 2

If the getList service of the alarm contains configured with the following conditions: "alarm_name" is "Alarm" and
"startjime" "$current_time", and the input value is start: 0, limit: 10. What data will be returned?

A. Query the alarms whose names contain "Alarm”, and the current time is between the start_time and the end_time.
B. Query the alarms whose names contain "Alarm” or the current time is between the start_time and the end_time.

C. Query the alarms whose names contain "Alarm", and the start_time is earlier than the current time, or the end_time is
later than the current time.

D. Query the alarms whose names contain the alarm name, or the start_time is earlier than the current time, or the
end_time is later than the current time.

Correct Answer: A

QUESTION 3

Which of the following statements are incorrect? (Multiple Choice)

A. Rules can be triggered only when model data is created, updated, or deleted.
B. Rules are executed synchronously.

C. A rule can have multiple activities.

D. The rule that causes an infinite loop cannot be configured.

Correct Answer: ACD

QUESTION 4

When the Outbound SOAP creates an interface for obtaining access tokens, which of the following service types is
selected?

A. Standalone Service
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B. Model related service
C. OAuth2 Token Service
D. Webservice

Correct Answer: C

QUESTION 5

The Link Column parameter in Grid needs to be transferred to the details page. How to obtain the order_id parameter of
aline?

A. #Get[orderid]
B. #Put[orderid]
C. #RowJorderid]
D. #Set[orderid]

Correct Answer: C
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